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OALUHHMEIZA 222
1,000,0008 * 13 1,000
OZB2X HIIAAM =42 350008 704 245
oleg4+¥] 15,000
OYRLH 60,0008 » 83 4,980
O=E$Y 60,0008 * 167 10,020
ol=2l] 5,040
ORAM2Y SHA 4 8,000 « 182! « 35¢ 5,040
02 ss2gl 119,215 108,138 11,077
O[22 23LHAl 86,468
ORER2 3302 « 1,250 » 12@ 4,950
opskcX= = 36,0008 = oCH = 12€ 3,888
oHIIQ2 5,500,0002 * 12¢ 66,000
OM%E3 400,0008 * 128 4,800
OO0lEMEEE 90,0008 = 204 180
OZBEIY HuLE2 800,000 = 7CH 5,600
OZBEXE NSIHA 150,000 * 7CH 1,050
o[t adl] 5,053
OHHEIDIAZHI(ER)
825.612 « 30 = 8AI2+ « 852 = 3OHA 5,053
O[AMNE EHHISXIHI] 12,360
OXAHEH|l RXIHl  270,0008 * 9CH 23] 4,860
O H AR XY 7,500
o=A 1,000,0008! * 4% 4,000
oatets 350,000 * 10JH 4 3,500
O[XrgF & el ] 15,334
OBEXE 81Xl
100,0008 = 704 = 128 8,400
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A =) IsHE
E: #F2HZY|
Ctel s JIE&dy| (S )
- i L=
SA-EB.O(EH) - MEAY - BAS Ol &F 04 g‘lg HR=2
o=Exz & Ad RRU(ZER)
1,238.043 = 160L * 5A12F = 704 6,934
202 4l 5,400 9,300 23,900
01 2 LHOtHl 5,400 4,500 900
O[3 0fdI] 5,400
ORN2Y SN
20,000 = 1821 » 15g 5,400
203 &L F&H| 10,500 8,740 1,760
I 2ASHLRF=XH| 3,300 3,300 0
OJI2A2HERFEY| 3,300,000& * 19! 3,300
02 DA A 2 FKRIY| 1,680 1,240 440
O DA R =AY 40,0008 = 420! 1,680
04 FENSIERF=EH| 5,520 4,200 1,320
O ANSILRF=XH| 460,000& = 12& 5,520
AR D123 15,400 14,270 1,130
201 LBt2 A Y| 10,460 9,850 610
01 AP 22|t 10,460 9,850 610
Olgets=2H|] 6,060
ORANEY SUH A 6,060,000 * 14! 6,060
Ol2Hl] 4,400
OBASY SHAHA 8,0008 » 102! « 55 4,400
202 01 4,940 4,420 520
01 2ol 4,940 4,420 520
ORNSISHH & 20,000&¢ * 1321 = 19¢! 4,940

- 862 -






